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Class Exercise #1 
Calculations and Notes 
 

Length of Need (X) 

X =   
ଶସ	ି	ଵ଴.ସ

ቀ మర
రభఱ

ቁ
ൌ 235.17′ 

 

Guardrail Length 

Using a Guardrail Approach Terminal, Type 2M with        

Guardrail, Type MGS‐8 in this case 

 

Min. Guardrail Length = 235.17’ + 3’ – 34.3’ = 203.87’ 

 

     # of 12.5’ panels = 	ଶ଴ଷ.଼଻
ଵଶ.ହ

  = 16.31   →   17 panels 

 

 Type MGS‐8 guardrail length = (12.5)(17)  = 212.5 feet 

 
 
 
 
 



Reflectors 

# of reflectors = (
ଶଵଶ.ହ

ହ଴
) +1 = 5.25  → 6 reflectors 

 

 

Stations 

Station A  →  N/A in this case  

Station B = (1362+00) + 212.5’ ≈ 1364+12.5 

 

Calculating  Z 

Z = L2 = 10.4’  

     




